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QUIZ-9

Three masses ml=1kg, m2=1 kg and m3= 2 kg are arranged.as shown in the - aA=m g - '
figure. If the friction coefficient between m1 and m2 is M: nd the friction \ M’& $ 3 —[
coefficient between m1 and the table i .. =0.65 ) find the acceleration of all J_,

masses and the tensiono celeration is g=10 m/s”) NB a
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The three masses in the figure are w, = 1.0ky, ., = 2.0kg and m, =
3.0ky. The acceleration due to gravity is given as g = 10 m/s?. There is no
friction, the pulleys and the ropes are massless.

Find the direction and the magnitude of the acceleration of ..
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